PARTS FOR :
PROFESSIONAL NO-GAS MIG WELDER 90Amp 230V

MODEL : DIMMIG100

10F2

T:ON 3NssI

£T02/20/ST * 3Lva ANSSI

Nelson

Lancashire

e BBO 6RT

( \ Unit 43 Churchill Way
d m Lomeshaye Industrial Estate



m*

ITEM PARTNO

1 M-MIG90V2.01
- TIG100/2

2 M-MIGS0V2.02
3 M-MIGS0V2.03
4  M-MIGS0V2.04
5 M-MIGS0V2.05
6 M-MIG90V2.06
7 M-MIGS0V2.07
8 M-MIGS0V2.08
9 M-MIGS0V2.09
10 M-MIG90V2.10
11 M-MIGS0v2.11
12 M-MIG90V2.12
13 M-MIG90V2.13
14 M-MIGO0V2.14
15 M-MIG90V2.15
16 M-MIG90V2.16
17 M-MIGS0V2.17
18 M-MIGS0V2.18
19 M-MIG90V2.19
20 M-MIGS0V2.20
21 M-MIG90V2.21
22 M-MIG90V2.22
23 M-MIGS0V2.23
24 M-MIG90V2.24
25 M-MIG90V2.25
26 M-MIG90V2.26
27 M-MIGS0V2.27

PARTS FOR :

PROFESSIONAL NO-GAS MIG WELDER 90Amp 230V
MODEL : DIMMIG100

PARTS LIST
DESCRIPTION ITEM PARTNO
MIG TORCH 28 M-MIG90V2.28

CONTACT TIP 1mm (pack OF 5) 'not shown'
PLASTIC PROTECTOR

FIXED BLOCK (A)

SCREW (ST4.2x38)

FIXED BLOCK (B)

SCREW (ST4.2x9.5)

SUPPORT SHELF FOR CIRCUIT BOARD
CONTROLKNOB

PLASTIC WASHER

SPEED CONTROL CIRCUIT BOARD
CABLE STRAIN RELIEF (B)

SCREW (ST3.5x16)

SCREW (M4x16)

SCREW (M6x25)

BOTTOM PANEL

RUBBER FOOT

SCREW (M4x10)

SPACER BLOCK

FAN

WASHER

NUT M4

OVERLOAD INDICATOR

ON/OFF SWITCH (GREEN)
MIN/MAX SWITCH (BLACK)
SCREW (ST4.2x22)
TRANSFORMER

THERMOSTAT

29 M-MIGS0V2.29
30 M-MIGS0V2.30
31 M-MIGS0V2.31
32 M-MIGS0V2.32
33 M-MIGS0V2.33
34 TIG100/1

35 M-MIGS0V2.35
36 M-MIGS0V2.36
37 M-MIGS0V2.37
38 M-MIGS0V2.38
39 M-MIGS0V2.39
40 M-MIGS0V2.40
41 M-MIGO0V2.41
42 M-MIGS0V2.42
43 M-MIGS0V2.43
44 M-MIGS0V2.44
45 M-MIGS0V2.45
46 M-MIGS0V2.46
47 M-MIGO0V2.47
48 M-MIGS0V2.48
49 M-MIGS0-0.49
50 M-MIGS0V2.50
51 M-MIGS0V2.51
52 M-MIGS0V2.52
53 M-MIG90-0.53
54 M-MIGS0-0.54

20F2

DESCRIPTION
PLAIN WASHER

SPRING WASHER

BOLT (M6x75)

NUT M6

SPOOL SPINDLE

SPOOL SPRING

FLUX CORED MIG WIRE 0.9kg 0.9mm A5.20
SPOOL KNOB

WING NUT M6

SCREW (ST4.2x13)

WIRE FEED UNIT

RUBBER RING

CENTRE PANEL

TENSION ADJUST KNOB
WIRE FEED SWING ARM
WIRE FEED BEARING
WIRE FEED ROLLER

FEED ROLLER BRACKET
PLAIN WASHER

SCREW (ST3.9x13)
PLASTIC LATCH

TOP COVER

STRAP

POWER CORD (c/w PLUG)
CLAMP (c/w CABLE)

SIDE PANEL, RIGHT

SIDE PANEL, LEFT

Unit 43 Churchill Way
Lomeshaye Industrial Estate
Nelson

Lancashire

BB9 6RT



